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ALQUINOS

1. Serala el nombre correcto para estos compuestos:
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CH.— CH2— CHz— C=CH

%
a) 4 -pentino
b) 1 -pentino

¢) 2-pentino

CH,— ComC — CH— CH— CH,
cﬂa

a) 2-etil-3 -pentino

& y ,
b) 4 -etil-2 -pentino

i 4 g
¢) 4-metil -2 -hexine

CH—CH—CH,

CH=C —CH—C=(C— CI—I—CT:'[3

H,

a) &-metil -3 -propil -1 ,4 -
heptadiino

C b) 2 -metil-5-propil-3,6-

heptadiino
) 3-propil-6-metil -1 ,4 -
heptadiino

P
CHCH—CH— C— CH,

C=CH Cj]':'[3

a) 4 -etinil-2,2 -dimetilpentano

& b) 2.2 4 -trimetil -5 -hexino

c) 3,5,5-trimetil-1 -hexino

CH=C—CH—CH—C
H—CH—CH,
CHQ-—~CECH

&) 4-etil-1,5 -hexadiino
i b) 3 -etil-1,5-hexadiino

¢) 4-etinil -1 -hexino

CH3 CH—C—C C—C

CHQ—CH3 CHy— aﬁ:H—cH3

a) 2,7 -dimetil-3,5 -nonadiino
b) 3.8 -dimetil-4,6 -nonadiine

c) 7-etil-2-metil-3,5-octadiino
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